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Anderson’s bridge

Aim : - To measure the self - inductance of a givehbgoAnderson’s bridge method.

Apparatus :- Inductor, standard capacitor, resistors ( firesistances and variable p

as given in the circuit ) signal generator, heaongs and connecting terminals.
Formula :- Inductance of givencoil L=C[((RR;) Rs+ R:-Rs,] mH

Where C = Capacitylu¢ standard capaciton(F )
2R3,R4 = Known, fixed and non — inductive resistance$2)K

R, Rs = Variable resistances ((K)

Description :- Anderson’s bridge is the most accurate bridgedufor the measureme
of self — inductance over a wide range of valuesmfa few micro-Henries to seve
Henries. In this method the unknown self-inductareceneasured in terms of kno
capacitance and resistances, by comparison. It isodification of Maxwell's L - C
bridge. In this bridge, double balance is obtaibgdhe variation of resistances only, {

value of capacitance being fixed.

Procedure :-The circuit diagram of the bridge is as showthia figure The coil whosg
self-inductance is to be determined, is conneatetie arm AB, in series with a varial
non-inductive resistor R Arms BC, CD and DA contain fixed and non — inave|
resistors R Rz and R respectively. Another non - inductive resistayi® connected i
series with a standard capacitor C and this coatigin is put in parallel with the ar,
CD. The head - phones are connected between B anth& signal generator

connected between A and C junctions.

Select one capacitor and one inductor and cartheen in appropriate places usi

patch chords. The signal generator frequency isséefjl to audible range. A perfg
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balance is obtained by adjusting &d R alternatively till the head — phones indicaje a
minimum sound. The values of; Rand R are measured with a multi-meter( While
measuring the Rand R values, they should be in open circuit ).In theabak conditior
the self — inductance value of the coil is caledaby using the above formula. The

experiment is repeated with different values of C.

Precautions: - 1) The product (CfRs) must always be less than L .

2) R, and R are adjusted until a minimum sound is heard irdhephones.

Result :-
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Table
S.No.| Capacity| Resistance Resistance Calculated value (L) | Standard
(C) (R1) (Rs) Cl[(R+R)Rs+R:Rq] | value of L
uF Q Q mH mH
1.
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3.
4.
5.
6.
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